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QUESTION 1

CHENG has a Call Center agent position and has no one reporting to him. You have given him a responsibility that
includes the "Manager\\'s Account List View" (My Team\\'s Account filter). What will be the outcome?

A. You will get an error because you cannot assign a manager view to someone who does not have a manager
position.

B. The view will not display to him since he doesn\\'t have a manager position.
C. He will see the view, but he will not see any records.
D. He will see the view, but he will only see records for which he is the primary on the Account Team.

Correct Answer: D

QUESTION 2

You are adding a Join and Join Specification to the Service Request business component to access data in the
S_ASSET table. You set the Outer Join Flag to FALSE, the Destination Column to ROW_ID and the Source Field to Id.
What will the result be?

A. No rows will be returned.

B. You will get an SQL error.

C. The implicit join will override this join.

D. All rows in the S_SRV_REQ will be returned.

E. All rows in the S_ASSET table will be returned.

Correct Answer: A

QUESTION 3

What is true when a user does not have access to any views in a screen?

A. The views are listed only on the Site Map.

B. The Screen containing the views is available on the Site Map, but it is empty.

C. The views are only accessible through a drilldown.

D. The screen is not available in the application, either through a screen tab or the Site Map.

Correct Answer: D

QUESTION 4
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What Siebel feature limits the user\\'s ability to change a picklist value from one value to another?
A. Siebel Audit Trail

B. Siebel Dynamic Picklists

C. Siebel State Model

D. Siebel Data Manager

Correct Answer: C

QUESTION 5

Which represents a business entity and groups data from one or more tables?
A. Applet

B. Application

C. Business object

D. Business component

Correct Answer: D
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